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TOTAL | WEH | TOTAL| NET TOTAL | 18 | ToTAL| NET
1] =g/ | ] o
324 1 334 4 [300.2; 13
K % ouT!| IN |TOTAL HDCP| NET 7 K & out| N |ToTAL|HDCP! NET |
s F — H 40 | 38 78 *| 48 |73.2 A oE £ 8B 41 | 38 79 *| 36 1754*
oWy E R 38 | 42 80 *| 3.6 |764 - T = ST 41 | M 82 *{ 84 |7136*
g A gh 42 | 40 82 *| 84 |738 X B & M 43 | 43 86 *| 108 |75.2%
X & B B 42 | 42 | 84*| 96 (744 DI S i B 45 | 42 | 87*| 72 |798
w B # =R 42 | 43 85 9.6 |754 BE O # =z 46 | 42 88 | 120 /|760*
TOTAL | HBfiE TOTAL | NET TOTAL | M&f& | TOTAL| NET
KHEE I 1| -
327 2 335 5 (2976 5
- K & OUT | IN |TOTAL|HDCP| NET £ 4 out| N |ToTAL HDGP| NET
® R = K 40 | 38 78 *| 48 |73.2 = OH £ 17 39 | 42 81 *| 60 |750*
b g B 39 | 40 79 *| 6.0 [73.0 B K B £ 43 | 40 83 *|. 84 |746*
*= F OB O 39 | 44 83 *! 10.8 [722 2 B OB X 43 | M 84 *| 84 |756
b B & B 46 | 42 | 87 *i 144|726 k¥ s 41 | 46 87 *| 12.0 [750*
;OB ®B X 43 | 47 90 | 132 (768 X & =1 45 . | 46 91 [ 180 |73.0*
L.
TOTAL | §BfZ | TOTAL| NET TOTAL | FEf TOTAL | NET
ZE B =B
330 3 336 6 13000 12
- K 4 out| v |ToTAL|HooR| NET | | K 4 OUT | IN {TOTAL |HDCP; NET
H % R 38 | 41 9% 72 inns | |$8 W & 3 40 | 40 | 80 *| 48 |752% |
H o & = 43 | 39 82 % 96 (724 ' OB OB — 45 | 40 85 *| 10.8 |74.2%
A # 39 | 45 84 *| 84 |7586 = W E X 43 | 42 85 *| 12.0 |73.0%
5 B B — 45 | 40 85 *| 12 718 B @B B — 42 | 44 86 *| 84 |776*
& @ B 1T 43 | 42 85 | 108 {742 K i ) 54 | 45 99 | 20.4 (786
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TOTAL | IEf% | TOTAL | NET TOTAL | JEfif | TOTAL| NET
BRZEIER =R
338 7 (2984 8 345 L10 2046 3
K 4 out! IN |ToTAL|HDCR| NET K % lTout| ™ [ToTat|Hper] NET
% w - 42 | 39 81 *| 60 |75.0* X B = = 45 | 39 84 *| 108 |73.2*
0w x T 1 43 | 42 g5 *| 132 [718*] |& B A — 45 | 41 86 *| 15.6 | 70.4* |
k5 7 K B =2 42 | 44 86 *| 06 |764* # KA F = 47 | 39 86 *| 10.8 [75.2*
® B B - 45 | 41 86 *| 10.8 |75.2% w H X ® 45 | 44 89 *| 132 {75.8*
H B - = 42 | 44 86 | 96 1764 W B F#F B 43 | 50 93 | 15.6 |774
~ |toTaL| Mtz |TOTAL| NET totAL| MEE | ToraL| NET
R | =%
343 8 12996 10 345 11 (2946 2
E £ ouT | IN |TOTAL|HDGP| NET B £ oUT| IN |TOTAL [HDGE| NET
5 B - 40 | 39 79 *| 6.0 [730* 5 B B2 44 | 39 83 *! 84 |748*
B H # B 43 | 40 83 *| 108 |72.2* # F A 43 | 42 85 *| 120 |730%
B OR 5 45 | 44 89 *{ 9.6 704 I B & = 44 | 44 88 *| 144 |736*
| - [ S 48 | 44 92 *| 156 |764* E % X 17 46 | 43 89 *| 15.6 |734*
5 8 E =& 50 | 46 96 | 18.0 |780* E &2 & = 51 | 44 95 | 19.2 {758
ToTAL | IBiz | TOTAL| NET TOTAL | ¥E{ | TOTAL| NET |
EAR ' B3
344 9 (2984 7 345 12 (2982 6
B K % ouT | IN |TOTAL|HDCP| NET K £ ouT| N |TOTAL [HDCP| NET
A B o= H 47 | 38 83 *| 7.2 |758 g A & ® B 43 | 36 79 *| 3.6 |754%F
L B %= 3k 39 | 47 86 *| 13.2 |728* # Lk I B 41 | 40 81 *| 96 [714F
= B ' X 46 | 41 87 *| 120 |750%] | R F i 45 | 44 89 *| 132 |75.8*
M B8 B M 44 | 44 88 *| 13.2 |748* % XX B 47 | 49 96 *| 204 |756*
5 ¥ 00X 47 | 42 89 | 132 |758* NI 8 @ 51 | 47 98 | 18.0 |80.0
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TOTAL | FBf | TOTAL| NET TOTAL | JE# | TOTAL| NET
=N - HAR -
347 13 13026 14 359 16 |2988| 9
K % OUT| IN |TOTAL |[HDCP! NET K £ OUT| IN |[TOTAL|HDCP NETﬁ
# R E B 39 | 42 8t *1 60 [750* £ Fx F = 42 | 44 86 *| 13.2 |72.8*
E F £ = 42 | 44 | 86* 96 (764*| W F & R 48 | 40 | 88 * 96 [784 |
= B B B 45 | 45 90 *| 13.2 | 76.8* mo g F B 49 | 42 91 *| 16.8 |740*
g5 % B = 42 | 48 90 *| 15.6 {744 * W ¥ 50 | 44 94 *| 204 {736*
BOHF X B 51 | 44 95 | 14.4 |80 B 0 & 50 | 51 | 101 | 228 1782*
TOTAL | JE{f | TOTAL| NET TOTAL | WEf% | TOTAL| NET
T4 8
350 | 14 (297.2| 4 367 17 (2922 t
K % loutr| w |ToTAL|HDCR| NET K % ouT| N |ToTALlHDCP| NET
HOHEHE A X 36 | 42 78 *| 7.2 |708* BooOom & 46 | 43 89 *| 156 [734*
W F E | 42 | 43 85 *| 108 [74.2%* & O a8 47 | 45 92 *1 16,8 | 75.2
b B O s 46 | 45 91 *| 168 |74.2* K &3 - * 50 | 43 93 *1 204 {726*
B W i 48 | 48 96 *| 18.0 |78.0* /AT - 47 | 46 93 *| 19.2 {738*
N B OFE OB 45 | 49 94 | 216 |724%*
B TOTAL | HEf | TOTAL| NET
TE
358 15 12998 11
K & out| m |ToTAL |MpCR| NET
Er B X f# 42 | 44 86 *| 120 |74.0*
k@ %F 44 | 43 87 ¥112.0 1750%
B oE R F O 42 | 45 87 *1 12.0 | 750*
b\ = 53 | 45 98 *116.2 |78.8
X B OB 2 49 | 52 | 101 | 252 |758*%




